Part I1I: Integrate the trig functions by substitution when
needed
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#9) [ 2x cos(x?) dx

:5*& cosle) %;;)

= Sceslu)du
= s+ C

#10) [ sin(4x)dx

Ss-n(u\(’l/fr\
- gsm(:.\ﬂu

- - —% Cog(a) +C

#11) [ 3x%sec(x®)tan(x®) dx

= S 37 Sec(w)tan (u\%}

= S_Se_c [u\—)-ev\éa>AM
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#12) [ —-sin(27x) dx

= S 1 Shf\[“‘\(d?:_)
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#13) [ sec?(x)./tan(x) dx
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#15)

#16)

[ tan(x) In | sec(x) | dx

- (o) o G
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2x2 _ s X-2
17. fmdx—
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1
e D. 2(x*=2)/24¢C
> E. 3(x3-2)24¢C

18. Ifu=2x -3, then [ xY2x — 3dx =

- A
s 3’6. fu4/3+3u /3 du l(m\"m ‘LJM
L (v )° x , ©
—fu/3+3u/3du

C. —f%du
: = D&“S
D. ifi/ﬂdu =
1 3 _ét—d—:
E. Ef(2u+3)\/ﬂdu T<
o = aA¥

2
19. If Z—Z = x; and f{0) = 4, find the particular solution to

the differential equation. (See next section)

§1 ay < xtax

1.3
Iyt 3 +C

=—/3x3+16 ;
3

C. f= [x3+16

A fr)=2x% + 4
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2 3

2 Y= = 3x e
E. fix)=— /§x3+8 yei ToHG
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20. Using the substitution u = Vx, f 14% dx is equal to
which of the following?
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B. 2f e*du Ji
°
- ,QS e du
D. - [ edu ;
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